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S.No. LIST OF QUESTIONS  
 RESPONSE

 
 SCORE

Q1. Choose the correct statement that describes arteries   Incorrect 0/2

Q2. The �ltration units of kidneys are called   Incorrect 0/2

Q3. Oxygen liberated during photosynthesis comes form   Incorrect 0/2

Q4. Blood leaving the tissues become richer in   Incorrect 0/2

Q5. Which of the following is an incorrect statement?   Incorrect -0/2

Q6. The internal cellulaar energy reserve in autotrophs is   Incorrect -0/2

Q7. Which of the following equations is the summary of

photosynthesis  

  Incorrect -0/2

Q8. Choose the event that does not occur in photosynthesis.   Incorrect 0/2

Q9. The opening and closing of the stomatal pore depends
upon

  Incorrect 0/2

Q10. Choose the forms in which most plants absorb nitrogen 1.
Proteins 2.Nitrates and nitrites 3. urea 4. Atmospheric
nitrogen

  Incorrect 0/2

Q11. Which is the �rst enzyme to mix with food in the
digestive tract?

  Incorrect 0/2

Q12. Which of the following statements is(are) correct?1.
Pyruvate can be converted into ethanol and carbon
dioxide by yeast 2. Fermentation takes place in aerobic
bacteria 3. Fermentation takes place in mitochondria 4.
Fermentation is a form of anaerobic respiration

  Incorrect 0/2

12 Total 0/12 0 / 24

Enzymes  Time Taken : 00:00:54

RESPONSE

  Correct 0

  Incorrect 12

  Not
Attempted 0

Candidate's Repsonses

Enzymes

Question 1: Marks: / 2

Choose the correct statement that describes arteries

Options Response Answer

They have thick elastic walls blood �ows under high pressures collect blood from di�erent organs and bring it back to
the heart

They have thin walls with valves inside blood �ows under low pressure and carry blood away from the heart to
various organs of the body

They have thick elastic walls blood �ows under low pressure carry blood from the heart to various organs of the body

They have thick wlastic walls without valves inside blood �ows under high pressure and carry blood away from the
heart to di�erent parts of the body



Question 2: Marks: / 2

The �ltration units of kidneys are called

Options Response Answer

Ureter

Urethra

Neurons

Nephrons 

Question 3: Marks: / 2

Oxygen liberated during photosynthesis comes form

pa - ਪ੍ਰਕਾਸ਼ ਸੰਸ਼ੋਧਨ ਦੇ ਦੌਰਾਨ ਮੁਕਤ ਆਕਸੀਜਨ ਬਣਦੀ ਹੈ

hi - प्रकाश स�ंलेषण के दौरान आ�सीजन म�ुत हो जाता है

Options Response Answer

water 

ਪਾਣੀ 

पानी



chlorophyll 

ਕਲੋਰੋਿਫਲ 

�लोरोिफल

Carbon dioxide 

ਕਾਰਬਨ ਡਾਈਆਕਸਾਈਡ 

काब�न डाइऑ�साइड

glucose 

ਗਲੂਕੋਜ਼ 

शक� रा

Question 4: Marks: / 2

Blood leaving the tissues become richer in

pa - ਖੂਨ ਛੱਡ ਕੇ ਿਟਸ਼ੂ ਹੋਰ ਅਮੀਰ ਹੋ ਜ�ਦੇ ਹਨ

hi - ऊतको ंको छोड़ने वाले र�त म� सम�ृ होते ह�

Options Response Answer

carbon dioxide 

ਕਾਰਬਨ ਡਾਈਆਕਸਾਈਡ 

काब�न डाइऑ�साइड



water 

ਪਾਣੀ 

पानी

Heamoglobin 

ਹੀਮੋਗਲੋਿਬਨ 

Heamoglobin

Oxygen 

ਆਕਸੀਜਨ 

ऑ�सीजन

Question 5: Marks: -0 / 2

Which of the following is an incorrect statement?

pa - ਹੇਠ ਿਲਿਖ� ਿਵੱਚਂੋ ਿਕਹੜਾ ਇੱਕ ਗਲਤ ਿਬਆਨ ਹੈ?

hi - िन�निलिखत म� से कौन गलत कथन है?

Options Response Answer

Organisms grow with time 

ਸਮੇਂ ਦੇ ਨਾਲ ਜੀਵ ਵਧਦੇ ਹਨ 

समय के साथ जीव बढ़ते ह�

Organisms must repair and maintain their structure 

ਜੀਵਾਣੂ� � ਆਪਣੀ repair◌�ਚੇ ਦੀ ਮੁਰੰਮਤ ਅਤੇ ਕਾਇਮ ਰੱਖਣਾ ਲਾਜ਼ਮੀ ਹੈ 

जीवों को अपनी संरचना की मर�मत और रखरखाव करना चािहए

Movement of molecules does not take place among cells 

ਅਣੂ� ਦੀ ਗਤੀ ਸੈੱਲ� ਿਵਚ ਨਹੀਂ ਹੁੰਦੀ 

अणओु ंका आंदोलन कोिशकाओ ंके बीच नही ंहोता है



Energy is essential for life processes 

Lifeਰਜਾ ਜੀਵਨ ਪ੍ਰਿਕਿਰਆਵ� ਲਈ ਜ਼ਰੂਰੀ ਹੈ 

जीवन प्रिक्रयाओ ंके िलए ऊजा� आव�यक है



Question 6: Marks: -0 / 2

The internal cellulaar energy reserve in autotrophs is

pa - ਆਟੋਟ੍ਰੋਫਸ ਿਵਚ ਅੰਦਰੂਨੀ ਸੈਲੂਲਰ energyਰਜਾ ਿਰਜ਼ਰਵ ਹੈ

hi - ऑटोट्रॉ�स म� आतंिरक से�यलुर ऊजा� आरि�त है

Options Response Answer

glycogen 

ਗਲਾਈਕੋਜਨ 

�लाइकोजन

protein 

ਪ੍ਰੋਟੀਨ 

प्रोटीन

starch 

ਸਟਾਰਚ 

�टाच�



Fatty acid 

ਫੈਟੀ ਐਿਸਡ 

फैटी एिसड



Question 7: Marks: -0 / 2

Which of the following equations is the summary of photosynthesis  

pa - ਹੇਠ ਿਲਿਖ� ਿਵੱਚਂੋ ਿਕਹੜਾ ਸਮੀਕਰਣ ਪ੍ਰਕਾਸ਼ ਸੰਸ਼ੋਧਨ ਦਾ ਸੰਖੇਪ ਹੈ  

hi - िन�निलिखत म� से कौन सा समीकरण प्रकाश स�ंलेषण का सारांश है  

Options Response Answer

A 

ਏ 

ए

B 

ਬੀ 

बी



Carbon dioxide 

ਕਾਰਬਨ ਡਾਈਆਕਸਾਈਡ 

काब�न डाइऑ�साइड



D 

ਡੀ 

डी

Question 8: Marks: / 2

Choose the event that does not occur in photosynthesis.

pa - ਉਹ ਇਵੈਂਟ ਚੁਣੋ ਜੋ ਫੋਟੋਿਸੰਥੇਿਸਸ ਿਵੱਚ ਨਹੀਂ ਹੁੰਦਾ.

hi - उस घटना को चनु� जो प्रकाश स�ंलेषण म� नही ंहोती है।

Options Response Answer

Absorption of light energy by chlorophyll 

ਕਲੋਰੋਿਫਲ ਦੁਆਰਾ ਹਲਕੀ energyਰਜਾ ਦੀ ਸਮਾਈ 

�लोरोिफल �ारा प्रकाश ऊजा� का अवशोषण

Reduction of carbon dioxide to carbohydrates 

ਕਾਰਬੋਹਾਈਡਰੇਟ ਲਈ ਕਾਰਬਨ ਡਾਈਆਕਸਾਈਡ ਦੀ ਕਮੀ 

काबो�हाइड्रेट को काब�न डाइऑ�साइड की कमी

Oxidation of carbon to carbon dioxide 

ਕਾਰਬਨ ਤਂੋ ਕਾਰਬਨ ਡਾਈਆਕਸਾਈਡ ਦਾ ਆਕਸੀਕਰਨ 

काब�न डाइऑ�साइड को काब�न का ऑ�सीकरण



Conversion of light energy to chemical energy 

ਹਲਕੀ energyਰਜਾ � ਰਸਾਇਣਕ toਰਜਾ ਿਵੱਚ ਤਬਦੀਲੀ 

प्रकाश ऊजा� का रासायिनक ऊजा� म� �पांतरण

Question 9: Marks: / 2

The opening and closing of the stomatal pore depends upon

pa - ਸਟੋਮੈਟਲ ਪੋਰਸ ਦਾ ਉਦਘਾਟਨ ਅਤੇ ਬੰਦ ਹੋਣਾ ਿਨਰਭਰ ਕਰਦਾ ਹੈ

hi - पेट के िछदर् का खलुना और बंद होना िनभ�र करता है

Options Response Answer

oxygen 

ਆਕਸੀਜਨ 

ऑ�सीजन

temprature 

ਲੱਚਰਤਾ 

temprature

water in guard cells 

ਗਾਰਡ ਸੈੱਲ ਿਵਚ ਪਾਣੀ 

गाड� कोिशकाओ ंम� पानी



Concentration of CO2 in stomata 

ਸਟੋਮੇਟਾ ਿਵਚ CO2 ਦੀ ਇਕਾਗਰਤਾ 

रंधर् म� CO2 का संकेतन

Question 10: Marks: / 2

Choose the forms in which most plants absorb nitrogen 1. Proteins 2.Nitrates and nitrites 3. urea 4. Atmospheric nitrogen

pa - ਉਹ ਰੂਪ ਚੁਣੋ ਿਜਸ ਿਵੱਚ ਿਜ਼ਆਦਾਤਰ ਪੌਦੇ ਨਾਈਟ੍ਰੋਜਨ � ਜਜ਼ਬ ਕਰਦੇ ਹਨ 1. ਪ੍ਰੋਟੀਨ 2. ਨਾਈਟ੍ਰੇਟਸ ਅਤੇ ਨਾਈਟ੍ਰਾਈਟਸ 3. ਯੂਰੀਆ 4. ਵਾਯੂਮੰਡਲ ਨਾਈਟ੍ਰੋਜਨ

hi - उन �पो ंको चनु� िजनम� अिधकांश पौधे नाइट्रोजन को अवशोिषत करते ह�। प्रोटीन 2. प्रोटीन और नाइट्राइट 3. यूिरया 4. वायमुडंलीय नाइट्रोजन

Options Response Answer

1 and 2 

1 ਅਤੇ 2 

1 और 2

2 and 3 

2 ਅਤੇ 3 

2 और 3



3 and 4 

3 ਅਤੇ 4 

3 और 4

1 and 4 

1 ਅਤੇ 4 

1 और 4

Question 11: Marks: / 2

Which is the �rst enzyme to mix with food in the digestive tract?

pa - ਪਾਚਕ ਟ੍ਰੈਕਟ ਿਵੱਚ ਭੋਜਨ ਦੇ ਨਾਲ ਿਮਲਾਉਣ ਵਾਲਾ ਪਿਹਲਾ ਪਾਚਕ ਿਕਹੜਾ ਹੈ?

hi - पाचन तंत्र म� भोजन के साथ िमश्रण करने वाला पहला एजंाइम कौन सा है?

Options Response Answer

Pepsin 

ਪੈਪਿਸਨ 

िप� का एक प्रधान अंश

Cellulose 

ਸੈਲੂਲੋਜ਼ 

सेलूलोज़

Amylase 

ਐਮੀਲੇਜ 

एमाइलेस



Trypsin 

ਟ੍ਰਾਈਪਿਸਨ 

िट्रि�सन

Question 12: Marks: / 2

Which of the following statements is(are) correct?1. Pyruvate can be converted into ethanol and carbon dioxide by yeast 2. Fermentation takes place in aerobic
bacteria 3. Fermentation takes place in mitochondria 4. Fermentation is a form of anaerobic respiration

pa - ਹੇਠ ਿਲਿਖ� ਿਵੱਚਂੋ ਿਕਹੜਾ ਿਬਆਨ ਸਹੀ (ਸਹੀ) ਹੈ? 1. ਿਪਯਰੂਵੇਟ � ਖਮੀਰ ਦੁਆਰਾ ਈਥੇਨੌਲ ਅਤੇ ਕਾਰਬਨ ਡਾਈਆਕਸਾਈਡ ਿਵਚ ਬਦਿਲਆ ਜਾ ਸਕਦਾ ਹੈ. 2 ਫਰਮੀਟੇਸ਼ਨ ਐਰੋਿਬਕ ਬੈਕਟੀਰੀਆ ਿਵਚ ਹੁੰਦੀ ਹੈ.

hi - िन�निलिखत म� से कौन सा कथन सही है? खमीर �ारा पाइ�वेट को इथेनॉल और काब�न डाइऑ�साइड म� पिरवित�त िकया जा सकता है। िक�वन एरोिबक बै�टीिरया म� होता है 3. िक�वन माइटोकॉि�ड्रया म� होता है 4. िक�वन
अवायवीय �वसन का एक �प है

Options Response Answer

1 and 3 

1 ਅਤੇ 3 

1 और 3

2 and 4 

2 ਅਤੇ 4 

2 और 4

1 and 4 

1 ਅਤੇ 4 

1 और 4



2 and 3 

2 ਅਤੇ 3 

2 और 3


